REC. BY: Taufuh ASSIC	GNMENT
n: Date:	Veh No: SLE55028 Yr Regn: 20/6/ July
rnated Cost:	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
TPIWSITP RESIDD RESIEVALINVIMV	Truck / Trailer or
Inspect Vehicle No:	Make: Honder Shuttle c.c 1496 Colour Black A/C: Insured/Std/NI/NA
Norkshop m/s	Colour Klack A/C: Insured / Std / NI / NA
Notice of the second se	Sp.Reading T/Radio: Insured / Std / NI / NA
ured:	Eng/No:
licy No.	C/No: GK 8102464.3.
aims No.	Gen. Cond: Good / Fair / Poor / Burnt
ım Insured: Excess:	Steering: Inorder / Jammed / Leaked / Burnt or
(Client's Record)	Brake: Inorder / Jammed / Leaked / Burnt or
ake of Veh:	Modi: NII / S/Rim / STD A/Rim or
	Tyre Size: F:
(Policy Condition)	R:
Remark: The veh had commenced its N/S O/S	BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUM! /
repair at the time of inspection.	TOJO I JORO or
Sal, or Market Value: 954K	Front Rear
IDAC Accident Rport: Consistent? : Yes or No .	R/Bal, mm
GIA / PR Seen: Consistent? : Yes or No	L/Bal. mrn UBal.
Est. Repairs: days Res.: Yes or No	D.O.A. D.O.I. 1997
Lum Sum: % 3 Val.: Yes or No	Survey held at
CA REV REP. 24 HRS WP	Des. of Damages : Frt / Rear / O/S / N/S / U/C / Rooftop or
Venicie: IN 1 O	The U/C / Chassis frame / Body Structure affected due to collision
Date:Person contented.	The U/C / Chassis frame / Body chasta
Date / Time Action / Instruction	
regar lant 920K.	
Date/Time, File Pass to? : Preli. Report	Days Of Repair:
: Final Report	Resurvey No. of Trip: Survey Fee:
Date/Time, File Return to?	. Transportation:
2)Add	Fee: Site Insp (\$) _s+Rs_s
The state of the s	: Interview (\$) Photos
	Track Investor
Repair Formai :	: Tech. Invs (\$) Others

£



AP AUTOMOTIVE SERVICES PTE LTD ROC: 202022890H BLOCK 9006 TAMPINES STREET 93 #01-202 SINGAPORE 528840 TEL: 6784 4465 FAX: 6787 4886

Estimation

Date

Vehicle Make/Model

SLE 5502 S HONDA SHUTTLE

Chassis No.

GK81004643

No.	Description	Unit	ı	Jnit Price		Amoun	t
	Parts Replacment				8		
1	TAILGATE	1	\$	897.23	\$	6t/	897.23
2	TAILGATE SPOILER	1			\$	X	-
3	TAILGATE SPOILER LAMP	1			\$	×	-
4	TAILGATE WINDSCREEN	1			\$	brol) -
5	TAILGATE WINDSCREEN MOULDING	1	\$	126.75	\$	nee/	126.75
6	TAILGATE WINDSCREEN SIDE GARNISH L+R	1			\$	X	-
7	TAILGATE LAMP L+R	2	\$	312.45	\$	Cuy -	624.90
8	TAILGATE GARNISH	1	\$	347.61	\$	OF X	347.61
9	TAILGATE CHROME	1	\$	385.65	\$	Cor	385.65
10	TAILGATE LOGO - HONDA	1	\$	79.12	\$	not-	79.12
11	TAILGATE EMBLEM - SHUTTLE	1	\$	65.95	\$	1101	65.95
12	TAILGATE HANDLE SWITCH	1	\$	267.84	\$	×	267.84
13	TAILGATE NUMBER PLATE LAMP L+R	2	\$	85.30	\$	7	170.60
14	TAILGATE LOCK	1	\$	281.77	\$	6+1	281.77
15	TAILGATE LOCK CATCH	1	\$	75.50	\$	bt	75.50
16	TAILGATE INNER TRIM TOP L+R	2	\$	191.45	\$	×	382.90
17	TAILGATE INNER TRIM BOTTOM	1	\$	237.81	\$	de	237.81
18	TAILGATE INNER HANDLE	1	\$	45.82	\$	Cry/	45.82
	TAILGATE HINGE SET	2	\$	95.20	\$	RY	190.40
20	TAILGATE DAMPER SET	2	\$	179.85	\$	RY	359.70
21	TAILGATE WEATHERSTRIP	1	\$	149.63	\$	twi	149.63
22	TAIL LAMP L+R	2	\$	421.56	\$	Cuy	843.12
23	TAIL LAMP PANEL L+R	2	\$	214.25	\$	RY	428.50
24	REAR BUMPER	1	\$	1,247.91	\$	de	1,247.91
25	REAR BUMPER REFLECTOR L+R	2	\$	70.57	\$	LHX , RHW	141.14
26	REAR BUMPER REFLECTOR GARNISH L+R	2	\$	56.22	\$	247 KHW	7/112.44
27	REAR BUMPER REFLECTOR SPONGE L+R	2	\$	51.92	\$	×	103.84
28	REAR BUMPER REVERSE SENSOR SET	2	\$	172.45	\$	nu/	344.90
29	REAR BUMPER TOW COVER	1		85.90	\$	de	85.90
2.000	REAR BUMPER RETAINER L+R	2	_	80.62	\$	no /	161.24
	REAR BUMPER BRACKET	1		105.23	\$?	105.23
32	REAR BUMPER UNDERCOVER	1	\$	472.45	\$	X	472.45
33	REAR FENDER L+R	2	\$	1,024.69	\$	LM x RH bt	2,049.38
	REAR FENDER INNER TRIM TOP L+R	2	\$	321.41	-	LHX RH-NUS	
	REAR FENDER INNER TRIM BOTTOM L+R	2	\$	436.59		LHX RHOU	873.18
	REAR FENDER COWLING L+R	2		127.85	_	LYK RH?	255.70
	END PANEL	1		492.60	\$	ntl	492.60

_						
38	END PANEL INNER PANEL ~ 1 hours	1	\$	603.75	\$ h7-	603.75
39	END PANEL TOP GARNISH	1	\$	134.10	\$ de	134.10
40	REAR SMART LOCK ANTENNA	1	\$	194.50	\$?	194.50
41	REAR BUZZER	1	\$	145.70	\$ 5	145.70
42	SPAREWHEEL PANEL	1	\$	936.54	\$?	936.54
43	SPAREWHEEL PANEL TOP BOARD	1	\$	589.40	\$ Ţ	589.40
44	SPAREWHEEL PANEL TOOLS SPONGE	1	\$	143.97	\$ 7.	143.97
45	SPAREWHEEL PANEL ACCESSORIES TRAY	1	\$	411.25	\$?	411.25
46	SPAREWHEEL PANEL ACCESSORIES TRAY FRONT COVER	1	\$	178.67	\$ ~	178.67
47	SPAREWHEEL PANEL ACCESSORIES TRAY BOTTOM COVER	1	\$	182.51	\$?	182.51
48	REAR PASSENGER SEATBELT L+R	1			\$ just	-
	feer RH door RY			Total	\$,	16,569.92
	Near RH door weather strip and		L	ess 20%	\$	3,313.98
				Total	\$	13,255.94

	S/Nett Items				
1	TAILGATE WINDSCREEN SEALANT	1	150	\$ \$50 ve -	150.00
2	TAILGATE INNER TRIM CLIPS	1	250	\$ 20 4-	250.00
3	REVERSE CAMERA	1	800	\$ dis- 250.	800.00
4	TAIL LAMP CLIPS	1	50	\$ 20 ver	50.00
5	TAIL LAMP PANEL SEALANT	2	120	\$ X	240.00
6	REAR NUMBER PLATE	1	120	\$ 45 6+	120.00
7	REAR BUMPER CLIPS	1	100	\$ 3000	100.00
8	REAR FENDER SEALANT	2	250	\$ 40mm	500.00
9	REAR FENDER INNER TRIM TOP CLIPS	2	100	\$ 200	200.00
10	REAR FENDER INNER TRIM BOTTOM CLIPS	2	100	\$ 20 nes/	200.00
11	REAR FENDER COWLING CLIPS	2	100	\$ 10 10 1	200.00
12	END PANEL SEALANT	1	200	\$240ne/	200.00
13	END PANEL INNER PANEL SEALANT	1	200	\$5	200.00
14	END PANEL TOP GARNISH CLIPS	1	100	\$ were	100.00
15	SPAREWHEEL PANEL SEALANT	1	300	\$ 40?	300.00
			Total	\$	3,610.00

	LABOUR			1200)
1	PANEL BEATING ON AFFECTED AREAS	1	1400	\$ 1000	1,400.00
2	SPRAY PAINT ON AFFECTED AREAS	1	1800	\$ 1200	1,800.00
3	TO RNR REAR WINDSCREEN	1	350	\$ 120.	350.00
4	TO RNR REAR EXHAUST	1	250	\$ 60.	250.00
5	TO RNR REAR PASSENGER SEATBELT	1	400	\$ 60	400.00
6	TO CHECK WIRING AND TAILLAMP FUNCTION	1	150	\$7 30	150.00
7	TO CHECK WIRING AND TAILGATE LAMP FUNCTION	1	150	\$ 540.	150.00
8	TO RNR REAR INNER TRIM AND UPHOISTERY	1	400	\$ 60	400.00
9	TO CHECK WHEEL ALIGNMENT AND ADJUST	1	250	\$ X	250.00
10	TO RNR UNDERCARRIAGE	1	250	\$ ×	250.00
11	TO CHECK WATER LEAK	1	150	\$ 30	150.00
12	TO RNR FUEL TANK	1	250	\$ ×	250.00
13	TO PERFORM DIAGNOSTIC AND CLEAR FAULTS	1	600	\$ 🗙	600.00
14	TO RNR REAR TAILGATE MECHANISM	1	350	\$ 60	350.00

1.5	TO DAID DEAD DEVELOR SERVED AND CHECK CHRISTION	1	150	Τċ	301	150.00
15	TO RNR REAR REVERSE SENSOR AND CHECK FUNCTION	1	150	2	30.	150.00
16	TO PERFORM RUST PROOFING	1	400	\$	40	400.00
17	TO CLEAN AND VACUUM GLASSES	1	400	\$	301	400.00
100			Total Labou	\$	S. 4-300.	7,700.00
	Parts Replacement Amount			\$		16,865.94
		1				
		Tot	al Amount	\$		24,565.94

Taughtin 97495749

"UP" 1/4/21 C 5 pm

1/5 Resum after report.

fauftin O/hharts un

8 days.

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID: Vehicle Details	637B
Vehicle No.:	SLE5502S
Vehicle to be Exported:	No
Intended Deregistration Date:	30 Apr 2021
Vehicle Make:	HONDA
Vehicle Model:	SHUTTLE 1.5G CVT ABS D/AIRBAG 2WD 5DR
Primary Colour:	Black
Manufacturing Year:	2016
Engine No.:	L15B3535445
Chassis No.:	GK81004643
Maximum Power Output:	97.0 kW (130 bhp)
Open Market Value:	\$17,419.00
Original Registration Date:	26 Jul 2016
First Registration Date:	26 Jul 2016
Transfer Count:	0
Actual ARF Paid: Intended PARF Rebate Details	\$7,419.00
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	25 Jul 2026
PARF Rebate Amount: Intended COE Rebate Details	\$5,564.00
COE Expiry Date:	25 Jul 2026
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years):	10
QP Paid:	\$52,301.00
COE Rebate Amount:	\$27,373.00
Total Rebate Amount:	\$32,937.00

The information contained herein is correct as at 30 Mar 2021

SN09213U000Q / National Assessment Centre Services [408933]

ENTRY DATE & TIME: 30/03/2021 17:32 (SGT) SUBMITTED BY: Roslinda Binte A. Wahab VERSION: 1 (30/03/2021 17:32 (SGT))



SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

1. Please report correctly the details of the accident to speed up the claims process.

2. This Form must be completed by the Policyholder and/or the Authorised Driver

- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate 9. Policy liability.

 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

5. Any false reporting may be referred to the Police for investigation.

- 6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

Date of Submission 30/03/2021 17:32 (SGT) Date of Accident 29/03/2021 18:00 (SGT) **Exact Location of Accident** KPE, Singapore (ECP)SLIP RD TO PIE(TUAS) Additional Location Information Country/State of Loss Singapore

DETAILS OF OWN VEHICLE

Vehicle Registration Number **SLE5502S**

INSURED/POLICYHOLDER

Is company? Name Of Registered Owner TEO EE KWANG NRIC No SXXXX637B BENITA.TEO@GOSPELLIGHT.SG **Email Address** Mobile Phone No (Phone) +65-91469400 Alternative Phone No +65-91469400

VEHICLE PARTICULARS

Manufacturer Honda Model Shuttle Variant Exact purpose for which vehicle was being used at time of accident Private use Are you claiming under your own insurance policy for repair to

No - Claiming third party your vehicle? Vehicle Category Private car Transmission Auto CC 1496

INSURANCE COMPANY

Name of Insurance Company NTUC Income Insurance Co-operative Ltd Type of Coverage Comprehensive Fleet Policy No Policy Number 5082598502-04 Cover Note Number

DRIVER

WONG TJUB MUN, BENITA (HUANG XIWEN) Name of Driver NRIC No SXXXX973J

Date Of Birth 28/05/1978 Occupation Indoor **Date Of Driving Pass** 13/01/2000 Driving experience 21 YEARS AND 2 MONTHS Gender Female Mobile Number (Phone) +65-97988093 Alt. Phone Number Email Address BENITA.TEO@GOSPELLIGHT.SG Address 10G BRADDELL HILL Address complement #20-28 Postcode 579726 Is the driver the policyholder? No If No. Relationship of the Driver with the Insured Spouse Does Driver Own Other Vehicles? No Vehicle Registration Number of Other Vehicle Owned by Driver Insurance Company of Other Vehicle Owned by Driver GENERAL INFORMATION OF THE ACCIDENT Type of Accident Collision - Head to Rear Weather Conditions AFTER RAIN Road Surface Wet OTHER INFORMATION Was any foreign vehicle involved in the accident? No Number of vehicles involved in the accident 2 Was anybody injured in the Accident? Yes Was any injured conveyed to hospital by ambulance? No Was any other material or property damaged? Yes Number of Passengers (Including Driver) 2 Has the driver been approached by unknown person(s) soliciting/offering accident claims assistance? No PASSENGER 1 Name RAFAEL TEO Gender Male DETAILS OF POLICE ACTION Was the accident reported to the police? Yes Police Station Name Central Division Headquarters Police Station Phone No (Phone) +65-18002240000 (Fax) +65-62200877 Alt. Police Station Phone No 391 New Bridge Road #03-112 Police Cantonment Complex Block Police Station Address A Singapore 088762 Was notice of intended Prosecution given? No If yes, against whom? CIRCUMSTANCES OF ACCIDENT PLS REFER TO THE POLICE REPORT:A/20210330/7011 ATTACHMENT(S) Are accident photos available for attachment? Yes Was there any video captured by Car Camera? No Was there any audio recorded? No

DETAILS OF OTHER VEHICLE PROPERTY 1

Vehicle Registration Number SMN3287S



Vehicle Manufacturer	-
Vehicle Model	-
Vehicle Variant	-
Vehicle Colour	-
Vehicle Category	Private car
Name of Driver	-
Contact Number	-
Address	_
Address complement	_
Postcode	-
Insurance Company Name	-
Nature Of Damage	-
Details of property damaged in accident	-
No. Of Passenger (Including Driver)	-

INJURED PERSONS DETAILS

INJURED 1

WONG TJUB MUN, BENITA (HUANG XIWEN)
-
-
BODY
SLE5502S
Yes
No
RAFAEL TEO
#####################################
-
BODY
SLE5502S
Yes
No

SKETCH PLAN

IMPORTANT NOTICE

- Please report <u>correctly</u> the details of the accident to speed up the claims process.
- This Formmust be completed by the Policyholder and/or the Authorised Driver.
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

Lunderstand, acknowledge, agree and consent that

- (a) My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' law yers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims:
- (ii) investigating the accident and/or my claims;
- (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
- (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail
- (v) complying with applicable law in administering, processing, handling and/or dealing with my claims.

(collectively the "Purposes")

- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' law yers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents (including their law yers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.

Policyholder's Signature / Date &

Driver's Signature (# driver is not the policyholder) / Date

Sketch Plan

KPE(ECP) SLIP ROAD TO PIE(TUAS)

VEH. A- SLE 5502 S VEM. B-SMN 32875

Crite Circumstances of the Accident ON THE STATED DATE AND TIME. I, VEHICLE). THE WAS TRAVELLING ON, STATED VENUE. AS THE FRONT VEHICLE SLOW NOWN, I FOLLOW SUIT. SUDDENLY, VEHICLE B MIT ONTO MY VEHICLE'S REAR PORTION.	scribe Ci	ircumstances of the Accident
FRONT VEHICLE SLOW DOWN, I FOLLOW SUIT. SUDDENLY, VEHICLE & HIT ONTO MY VEHICLE'S		ON THE STATED VALE ATAL TIME : I, VETTER A
FRONT VEHICLE SLOW DOWN, I FOLLOW SUIT. SUDDENLY, VEHICLE & HIT ONTO MY VEHICLE'S		THE
SUDDENLY, VEHICLE B HIT ONTO MY VEHICLE'S	W	43 TRAVELLING ON STATED VENUE. AS THE
	FR	PONT VEHICLE SLOW DOWN, I FOLLOW SUIT.
REAR PORTION.	SU	DOENLY, VEHICLE B MIT ONTO MY VEHICLE'S
	Re	AR PORTION.
A STATE OF THE PROPERTY OF THE		

Declaration

We declare the foregoing particulars are true in every respect.

Policyholder's Signature / Date &

Time

Driver's Signature (if driver is not the policyholder) / Date

Witnessed by Reporting Centre Personnel





POLICE REPORT (NP299)

Police Station Of Origin Central Division HQ
A 391 New Bridge Road #03-112 Police
Cantonment Complex SINGAPORE 088762 Tel No:1800-2240000

Report No. A/20210330/7011

Date/Time Report Made 30/03/2021 12:19	Vide Report No.			Station Diary No.
Name Of Informant WONG TJUB MUN, BENITA	Address 10G BRA	DDELL HI	LL #20-28 SINGA	PORE 579726
ID Type / ID No. NRIC NO / S7813973J	Contact No. Home/Office: Mobile: 97988093			
Nationality SINGAPORE CITIZEN	Email Address benita.teo@gospellight.sg			
Occupation Administration manager	Sex Female	Age 42	Date of Birth 28/05/1978	Race Chinese
Institution/School Name	Language English			
Date/Time Of Incident 29/03/2021 18:00	Location Of Incident PAN ISLAND EXPRESSWAY			

Brief details.

On the stated date and time I was travelling with my son Rafael Teo Bowen (T1713793F) in my vehicle SLE5502S. As my front vehicle slowed down on the stated venue i gradually follow suit. Suddenly vehicle SMN3287S came from behind and hit onto my vehicle rear portion. The impact was great and i felt pain on my body, my son was injured too. We then proceeded to Unihealth 24hr clinic (Toa Payoh) to seek treatment and we were both given 3 days MC.

Signature Of Officer Recording The Report: Not applicable	Signature Of Informant: The identity of the person making this report has been authenticated by SingPass. No signature is required.
Signature Of Interpreter: Not applicable	Date/Time: 30/03/2021 12:19
Officer In-Charge Of Case:	Classification Of Case:
Authentication Stamp	